ERXEAERILEVFENREINEERREE

EEMERILENEOETNREEHES
2=

RILLT . I VA 2227 = [= | i ) | RN .
;‘EE%‘;‘% LTER LTV | FPLY R B e AFLY
15 5 8 5 (ppm) 0.08 0.07 0.05 0.04 0.88 0.05
HEARE (1 g/m3)
R IE i e/ma) 100 260 200 240 3800 220
BIERE (ppmXF 1 g/m®) %2
5 R HBIE E=HE BIEAE
L AE=E £AR S ER ENC IR R V1T S i =1 E= 2 DR B
ILTER _oEy | vEY
REINFER BEE R4.8.3 YR 10.0 <80 <80 <80 <80 <80
EXOTEEA 3424 R4.8.3 HLhEUE 47.0 <80 <80 <80 <80 <80
[N 35248 R4.8.8 TRBE 29.0 <80 <80 <80 <80 <80
IS Bl /N AR A1 H R4.8.16 HLhEUE 68.0 <80 <80 <80 <80 <80
FE/NERR 15248 R4.8.4 TRBE 29.0 <80 <80 <80 <80 <80
& B R/ 14E34) R4.8.4 HLhEUE 28.0 <80 <80 <80 <80 <80
FINERR 15248 R4.8.1 TRBE 37 <80 <80 <80 <80 <80
Fhagkdb /DR REERE: R4.8.8 HLhEGE 140.0 14.0 <80 <80 <80 <80 [8/18HERE
FHEgkdL/DFR 3434 R4.8.18 YL EGE 93.0 - - - - -
WD FXIEFR 2128 = R4.8.4 HLhEGE 27.0 <80 <80 <80 <80 <80
RENER 15 14R R5.1.10 TRBE 3.1 11.0 <80 <80 <80 <80
BEEENER AFEEHT R5.1.10 HLhEGE 3.1 <80 <80 <80 <80 <80
FE LU DFER 35248 R5.1.12 TRBE 27 8.4 <80 <80 <8.0 <80
AL BRI 4524 R5.1.10 HLhEGE <20 <80 <80 <80 <80 <80
| FEEm /NP 15140 R5.1.12 TRBE 20 <80 <80 <80 <80 <80
ARBT/NFEAR HE=E R5.3.24 LAk 4.3 16.0 <80 <80 <80 <80
AR/ F1EREE R5.3.24 YA 75 13.0 <80 <80 <80 <80
BT /N ZEHME R5.3.24 HLhEGE <20 13.0 <80 <80 <80 <80
ARETINERR BIEKRE R5.3.24 TRBE <20 21.0 <80 <80 <80 <80
BT /N ZFEKRE R5.3.24 LGk 22 19.0 <80 <80 <80 <80
AR/ BE=E R5.3.24 YA 43 18.0 <80 <80 <80 <80
ARBT /N ZHNE (GUFIL—L) R5.3.24 HLhEGE 27 <80 <80 <80 <80 <80
AHT/NEER ZEHME(RREE) R5.3.24 YA 11.0 24.0 11.0 <80 <80 <80
X1GRIEAZE) 1:BHBE (ppm) 2:¥E80E(1eg/m3)  3:M%51E(ug/m3)
X2CGRIEHRRE) ND: EETREUT




